
Answer key (MSB) 

1 (  5  ) Fred and George help Tom. 

 (  2  ) Tom wants to take George’s cheese. 

 (  1  ) Fred and George are not good brothers. 

 (  3  ) Fred helps George. 

 (  6  ) Fred, George and Tom become good friends. 

 (  4  ) Tom gets stuck in the mouse hole. 

2 A 

3 B 

4 B 

5 (a) George  (b) Tom  (c) Tom  (d) Fred (e) George 

6 ‘He’ refers to George. 

7 No, he isn’t. He sometimes plays tricks on his big brother. 

8 ‘Here’ refers to their mouse hole. Fred thinks they are safe because Tom gets stuck 

and can’t catch them. 

9 George helps Tom in the end because Tom promises that he will be nice to him 

 and Fred.  

(Other reasonable answers are accepted.) 

 

RWS 

A. 1. E 

   2. M 

   3. E 

   4. M 

   5. M 

 

B. Yes, Mark is a helpful person.  

   He helps me with my homework. 

 

 
End term- grammar (iLearn)  
1.C     2.B    3.C    4.D    5.B    6.B    7.D    8.D    9.A    10. B(False) 


